PPMP #: 161-5-1412-2022-9-0-0



# Republic of the Philippines VISAYAS STATE UNIVERSITY Visca, Baybay City, Leyte



# **PURCHASE REQUEST**

Dept./Office: DARI

PR #: GF-2021-10-01382

Date: 10-19-2021

Section/End-User: Jo Jane D. Atok

Category: Office Equipment

Funding Source: General Fund - MOOE

Project Title/Code: IP 2022

ltem #	Item Description	Unit	Qty	Unit Cost	PAR/ICS	Total Cost
1	Blender and Mixer	pc	3	6,500.00		
	Specification:			0,000.00		19,500.00

?2 in 1 (Blending & Juicer)

?Capacity of 1500mL Plastic Container and 450W motor

?2 Speed + Pulse control

?with Safety switch

?4 sealing lips for leak prevention

2 Dish Dryer and Sterilizer	unit	2	11,500.00	23,000.00

#### Specification:

- Dryer/Sterilizer
- Kills 99% of bacteria
- Upper cabinet: at least 65 degrees celsius heating temperature; suitable for plastic, wood, and glass materials
- Lower cabinet: at least 125 degrees celsius heating temperature; suitable for porcelain, glass, and stainless steel materials
- With ozone disinfection system
- · Stops growth of molds
- 2 level cabinet
- · Capacity: at least 3.1 cu.ft

3	Heavy Duty Combo Binding	unit	1	14 500 00	
	Machine	uint		14,500.00	14,500.00

## Specification:

?Specs:

?Maximum Punching Sheets: 25 ?Max Size: LS, F4, A4, Extra Long ?Selectable Punching Pins: 24 slots

?Net Weight: 12.5kgs

4	Labelling Printer	unit	2	8,500.00	17,000.00
				-1000.00	[ 17,000.00]

## Specification:

- Technology: Thermal Transfer
- Tape Width Capacity: at least 6, 9, 12, 18, 24 mm
- Tape is humidity resistant, scratch resistant, temperature resistant, and waterproof
- Connectivity: USB, Bluetooth
- QR Code Generator: Capable

- Barcodes: 14 types (Code 128, Code 39, Data Matrix, EAN-128, EAN-13, EAN-8, GS1-128, GS1-DataBar, ITF, MaxiCode, PDF417, QR Code, UPC-A, UPC-E)
- Cutter: Automatic Full Cut Function
- · Power: AC or Battery
- Compatibility: Windows Vista, 7, 8, 8.1, 10, Mac OSX 10.6 or later
- · Inclusions: 5 different sizes of compatible tapes

5 LED Illuminated "EXIT" Sign, no arrows	unit	12	4,500.00	54,000.00
--	------	----	----------	-----------

#### Specification:

- · Design Label: Red font in brushed white background
- Illumination: Bright Red LED, High Brightness LED SMD
- Label: Single face
- · Wattage: at least 4 watts
- · Burning Time: at least 90 minutes
- · Material: Aluminum Housing + Glass Panel
- Input Voltage: AC 220V 240V 50/60 Hz
- · Battery Type: ni-cd battery
- · Mounting accessories included
- Dimension: at least 12" x 8" x 2"
- Compliance: UL 924, NEC and NFPA 101 Life Safety Code or equivalent

LED Illuminated "Running Man" 6 Sign with Left & Right Arrows and unit 6 word "EXIT" below	4,500.00	27,000.00
--	----------	-----------

#### Specification:

- · Design Label: Red font in brushed white background
- Running Man with Left and Right arrows and word "EXIT" below
- Illumination: Bright Red LED, High Brightness LED SMD
- Label: Double face
- · Wattage: at least 4 watts
- · Burning Time: at least 90 minutes
- Material: Aluminum Housing + Glass Panel
- Input Voltage: AC 220V 240V 50/60 Hz
- · Battery Type: ni-cd battery
- · Mounting accessories included
- Dimension: at least 12" x 5" x 2"
- Compliance: UL 924, NEC and NFPA 101 Life Safety Code or equivalent

LED Illuminated "Running Man"	unit	1	4,500.00	4,500.00
7 Sign with Right Arrow and word	unit	1	4,500.00	4,000.00

# Specification:

- Design Label: Red font in brushed white background
- Arrows: Running Man sign with Right arrow and EXIT word on the left
- Illumination: Bright Red LED, High Brightness LED SMD
- Label: Double face

· Wattage: at least 4 watts

· Burning Time: at least 90 minutes

Material: Aluminum Housing + Glass Panel

Input Voltage: AC 220V – 240V 50/60 Hz

· Battery Type: ni-cd battery

· Mounting accessories included

Dimension: at least 12" x 5" x 2"

Compliance: UL 924, NEC and NFPA 101 Life Safety Code or equivalent

8	Microwave Oven, Digital, Non-	рс	2	14,000.00	28,000.00
	Inventer, 13 Power Levels	1			

## Specification:

?30 Liters capacity

?Grill and convection

?electronic control

?dual wave system

?13 power levels

2900W

?Non-Inventer

9 Vacuum Cleaner	unit	2	12,500.00	25,000.00

#### Specification:

· Operation: Cordless operation/usage

· Function: Suction + Sweep

Maximum suction power: at least 150AW

Storage: at least 600ml Dust Bin

· Battery: at least 3000mAh

Power Requirement: 220-240V

HEPA Filter - PM 0.3 dust and mite removal (washable)

· Inclusion: multi-function compatible brush head

10 Video Camera	unit	1	13,000.00	13,000.00

#### Specification:

- TYPE: Handheld and lightweight
- SENSOR TYPE: 1/5.8 type (3.1 mm) (0.12 in) back-illuminated Sensor
- EFFECTIVE PIXELS (VIDEO): approx. 2.29 Megapixels (16:9)
- LENS TYPE: ZEISS
- OPTICAL ZOOM: at least 30x
- CLEAR IMAGE ZOOM: at least 60x
- SCREEN TYPE: at least 6.7 cm (2.7 type) Clear Photo LCD display (230 400 dots) Wide (16:9)
- STORAGE MEDIA: XAVC S HD: Micro SDXC Memory Card (Class 10 or Higher), AVCHD, Still: Memory Stick Micro™ (Mark 2), Micro SD/SDHC/SDXC Memory Card (Class 4 or Higher)
- · AUDIO: Built-in microphone
- AUDIO RECORDING FORMAT: Dolby Digital 2ch Stereo, Dolby Digital Stereo Creator10, MPEG-4 AAC-LC 2ch11, MPEG-
  - 4 Linear PCM 2ch (48 kHz/16 bit), etc.

×	ECORDING FORMAT (VIDEO) AVC S format MPEG4-AVC/H2 ICLUSIONS: Storage media ca	64		264, MP4: MPEG-4 AVC/H.264,	
	TOTAL		and the same of th	225,500.00	
Purpose: For	office use				
Checked by:	NORMAN O. VILLA	s	Funds Available:	CNA/M. FLORES W	
	TWG - Office Equipm	ent	HEAD,	BUDGET OFFICE	
Signature: Printed Name:	JO JANE D. ATOK		DO E. TULIN	Approved by:  EDGARDO E. TULIN	
Designation:	FNILLISER	I IMIT HEAD E	ID DECIDENT VOIL		